\ 3.2 3.2  M10x30 (kAAY) BB EMEE t3.2 134 Bmimsyva i HESA: - SHARERC RN LAOREL. (&8 [ERACLEHER AC-L)
e /5_, 66 @BERAA2—70) . 67,67 ¢5.2x40x40 HEEREHTL - ML 547 | NMBC.-LAWAIT
M10x 30 BBILH /TR | REEERE (70) N- KOy 2%y MEERT . % & | VA 3085F FA—SFP
© T (BEFH4.6) Bl YT RE (@@E3 | KKVHO1110 J
<+ [ j 500 950 | 2000 2000
\ ! | | | =%
W AR il! L L . S
(KA I : T Y
I - -
”L .
i M8x 25 8 i | B
| BEAZ 1.5 Il — CAEEAA2-70) :
<H N 1
2 Grvvn ll RIS 1 W 3.2 Lot et (250 e
= I / . HS
8 [ SERBETA Y- 46 S
- I (F 4 DVHEND | 9
2 | “ L L/ \\ L 9 4
I
| T [T} [T
1 I n Y 1] |
~ I ] || - . =
ﬁ ” E WA B
= }u | \i%ﬁ;@ 4139.8%6.0 |
= o ] Fit H-123x 125x6x6x9 \FEAR $89.1x2.8 BINREME P20.5| [179.5
=SS 500
| S i . 0 050 B LR t5
” b .
2 BEEEL 16 | iy | - GEHRAD | BTHL (6 s6 134 B R 13.2
@ = SN S - (F A DY BEINE
o~ = 6/ 67 EN
M12x 45 H an (_ — 5 4}NO\E 27 80 5o SImin
(HEXAAZ—70) [N T2 -7 =
@ I T NMI8XS0__ | o Q_159_5_ T T 95 ~S| 2]
G} .
< | B R 300 el P BRI 0
X mimczan || N I - SEan L M12x 45
s I N (e T = (HERHA2—70)
= N 0 L S o~ )
o I M12x40 = =T T
>| wgent 16 ” 45/ (HEFH6.8) | o| e TEERAY-7 135 Bxa&ad ()
= il s R 4413 | - 504
E/I%;égj}iz_m) I: O Y 1970 (Kz W 2E) 1970 (Hz L&)
) L e« -t ) 1960 (A1~ 12E) | | 1960 (71~ +28)
M8x 50 W M22x 310
e ~ : /Y — B BESET 16 476 36
o ) / ™~ I S
B 1@ | — | =
| — % ) | GIRE:D) Al -+ t1.6 ¥o)
REARH = | = w l i ol Pre
(BRA /) N S| ol 1S gngeEns
J L [wm) D
An-+ 116 o = = F === 5 -
85‘ 95 40 (@] e — 7\/77_7|/_}‘ O ~
7y n-fL b | ST PL—100x 200x t9 ¥
M20x 240 477220 233 55 90 |55 "8
(BEFA4.6) 795 | 3205 Ut REME 200 A% B =0
" 500




